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Name: Date: Score:
8.022 x 100 = 5.866 x 1000 =
5.083 x 10 = 4.966 x 10 =
7.367 x 100 = 6.902 x 1000 =
8.331 x 1000 = 1.169 x 100 =
9.908 x 1000 = 1.441 x 100 =
3.978 x 10 = 4.559 x 1000 =
4.527 x 10 = 10.129 x 10 =
8.872 x 100 = 5.221 x 100 =
6.706 x 10 = 3.921 x 1000 =
6.83 x 10 = 1.232 x 1000 =
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Name: Date: Score:
8.022 x 100 = 802.2 5.866 x 1000 = 5866
5.083 x 10 = 50.83 4.966 x 10 = 49.66
7.367 x 100 = 736.7 6.902 x 1000 = 6902
8.331 x 1000 = 8331 1.169 x 100 = 116.9
9.908 x 1000 = 9908 1.441 x 100 = 144.1
3.978 x 10 = 39.78 4.559 x 1000 = 4559
4.527 x 10 = 45.27 10.129 x 10 = 101.29
8.872 x 100 = 887.2 5.221 x 100 = 522.1
6.706 x 10 = 67.06 3.921 x 1000 = 3921
6.83 x 10 = 68.3 1.232 x 1000 = 1232
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